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Ve AL RN

EFRAS R RS
202344 H
Y&E5 AE
S HeERPRE® RS SEHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(DA 2,277 0.002 - 0.051 0.009 =
4 1512 0.005 - 0.393 0.093 2
/L&, (HCI) 4,545 0.078 - 1.056 0.205 2
SFAEE (HF) 0.306 0.016 - 0.108 0.045 =
—ZMEWT (SO2) 15.147 0.324 - 8.108 2.685 H
—& (Ll (CO) 7.578 0.003 - 2.376 0.064 =
FEIEY (NOx)
PLIZ&AEE (NOy) 30.303 0.650 - 9.690 2.235 =
EHE
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.005 - 0.013 0.009 =
SIS T 0.756 0.057 - 0.133 0.093 2
/L&, (HCI) 0.756 0.125 - 0.644 0.205 =
LS (HF) 0.072 0.029 - 0.072 0.045 =
—&/EHi (SO2) 3.789 2.043 - 3.081 2.684 =
—&{Eh% (CO) 3.789 0.026 - 0.219 0.064 =
FHAY (NOx)
DI=&AEE, (NOy) 15.147 1.015 - 6.967 2.236 =
SHE
S8 HERRE® BEg4E R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 0.0002 s
S SE VAR 0.003789 <0.0014 =
R A 0.0378 <0.0063 &
IR R g (V) 7575 x 10 <7.200 x 10'1° =




Ve AL RN

EFRAS R RS
202344 H
Y& AF
S HeERPRE® R SEHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(DA 2,277 0.003 - 0.176 0.014 =
ey anT 1.512 0.000 - 0.343 0.058 =
/L&, (HCI) 4,545 0.063 - 0.308 0.190 2
SFAEE (HF) 0.306 0.005 - 0.080 0.033 =
—2ERR (SO2) 15.147 0.686 - 6.063 2.447 =
—&{Eh% (CO) 7578 0.004 - 1.993 0.052 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.264 - 13.758 1.201 2
EFE
(b) BN - HIME (HEFRENAGEE)
(DA 0.756 0.005 - 0.021 0.014 =
LA 0.756 0.018 - 0.096 0.058 =
/L&, (HCI) 0.756 0.105 - 0.243 0.190 2
LS (HF) 0.072 0.022 - 0.052 0.033 =
—E (L (SO2) 3.789 2.231-2.711 2.447 2
—&{Eh% (CO) 3.789 0.018 - 0.101 0.052 =
FHAY (NOx)
DI=&AEE, (NOy) 15.147 0.449 - 3.006 1.205 =
SHE
28 HERRE® RS S R
(kg/hr) (kg/hr) (/)
(c) FREHN (HET{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
B EEE 0.0378 <0.0052 &
g I Ry ki) 7.575 x 10° <5.851 x 10" =




Ve AL RN

EFRAS R RS
2023 fE 4 H
JE® BE
S HERREO R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
AR 2.277 0.003 - 0.020 0.006 =
LA M 1512 0.013-0.272 0.072 =
/L% (HCI) 4.545 0.084 - 0.204 0.147 =
SFAEE (HF) 0.306 0.004 - 0.085 0.035 =
—ZMEWT (SO2) 15.147 0.048 - 5.739 2.549 H
—& (L% (CO) 7.578 0.002 - 0.151 0.056 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 1.439 - 13.991 2.703 =
EFE
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.003 - 0.009 0.006 =
SN 0.756 0.030 - 0.095 0.073 =
/L& (HCI) 0.756 0.109 - 0.164 0.146 =
LS (HF) 0.072 0.022 - 0.046 0.035 =
—&/EHi (SO2) 3.789 2.373-2.731 2.546 =
—&{Ef% (CO) 3.789 0.031 - 0.084 0.057 =
FHAY (NOx)
DL=%AEE (NO2) 15.147 2.166 - 3.206 2.727 2
SR
28 HERREO RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
T Ry g ) 7.575 x 10 <5.442 x 10 =
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ERRAEEERE
202344 H
Y& BF
28 HERREO R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
AR 2.277 0.005 - 0.214 0.013 =
AT 1.512 0.020 - 0.417 0.093 =
/L% (HCI) 4.545 0.051 - 0.758 0.192 2
SFAEE (HF) 0.306 0.006 - 0.150 0.044 =
—ZMEWT (SO2) 15.147 0.030 - 7.084 2.551 H
—& (L% (CO) 7.578 0.035 - 0.240 0.131 =
FE(EY (NOx)
PLIZ&AEE (NOy) 30.303 0.891 - 10.997 1.970 =
EFE
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.008 - 0.022 0.013 =
SN 0.756 0.048 - 0.212 0.097 =
/L% (HCI) 0.756 0.128 - 0.272 0.192 =
LS (HF) 0.072 0.031 - 0.058 0.045 =
—&dEHR (SO2) 3.789 2.191 - 2.811 2.551 2
—&{Ef% (CO) 3.789 0.082 - 0.183 0.130 =
FEIEY (NOx)
DI=&AEE, (NOy) 15.147 1.243 - 6.552 2.132 =
SR
S8 HERREO BERaE R ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0011 =
R A 0.0378 <0.0050 &
T Ry g ) 7.575 x 10 <5.518 x 10 =




TSR BRI
YEF R EEE RS
20234 4 H

() EEGERELURE HRIER - BB Ry 101.325 kPa » sg iR Fat BA%E - LIRS
A& 11% RBSHEEIEIE -

(i) TR FTR ARFHRL T - BIZESR VAL T AR SR B E AL Ry 10um B/ -
(iii) fERHT 30 o8 feiet 8 /NRFHUGHANHYFE(E - BRESE ~ B ~ &% ~ 5f - 83~ 87~ &f > PR -
(iv) 1£ 6 2 8 /NEFHURIINEYFH(E -



